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Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Afternoon Session

Q1. Bodh Gaya where Buddha got his enlightenment is in

A. Odisha B. Bihar

C. Uttar Pradesh D. Karnataka
Q1.mmaﬁgaafrmﬁqﬁ§'§aﬁ, 73

A. 35rar B. fSgrR

C. 3cd’ ye2r D. ®dTesh

Q2. ISRO successfully launched a record of satellites from PSLV-C37 in a single
launch.

A. 96 B. 154

C. 64 D. 104

Q2. 38U (ISRO) o = RAerel offew # PSLV-C37 & 39T FY WHAATAS dAled Fh T 74T PifciaArsT

Ta1faa fRami

A. 96
C.64

B. 154
D. 104

Q3. Chhatrapati Shivaji Terminus, a UNESCO World Heritage site, is in

A. Ahmedabad B. Vadodara

C. Nagpur D. Mumbai

Q3. saufa Rrarsh effew, & gaww (UNESCO) fea eries ¥ua 72
A. 3EHACETE B. @8t

C. ANTR D. Hsg

Q4. is the Union minister of Commerce and Industry.
A. Suresh Prabhu B. Maneka Gandhi
C. Smiriti Irani D. Vijay Goel

Qa. o e AR e w1

A. YT 99 B. HefehT el

C. THfd &= D. fas Muer
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Q5. 'Sharafabad’, the town founded by Mughal Emperor Alamgir II, is presently known as

A. Faridabad B. Bahadurgarh

C. Hisar D. Mewat

Q5. I FATE TR gl ZarT TURT "SRIeEwRE H addA= & AT ¥ AT ST &
A. B{grETe B. SRIGTTG

C. fgER D. Fard

Q6. The Commission was set up to determine the boundaries of Punjab and
Haryana.

A. Sarkaria B. Joseph

C. Shah D. Nariman

Q6. goe 3R g Hi WATH FI AUIRT T F AT TN Y TATGAT F¥ 7§ A

A, FIHTRAT B. SIG®

C. g D. F0#HT

Q7. Who was the first Chief minister of Haryana?
A. Bhagwat Dayal Sharma B. Rao Birender Singh

C. Bansi Lal D. Banarasi Das Gupta

Q7. gRATOT F gy FEHA FleT 4?2
A. TS &aTer AT B. I9 foig g

C. §&Y dref D. SAREHT g1 Il

Q8. Before independence, timber market of Yamunanagar was famous by the name of

A. Garibpur Mandi B. Badalpur Mandi
C. Abdulhapur Mandi D. Nawab Mandi
Q8. IS & Tgel, IHATTIN F AH3! AR & a1 @ 9fag an

A. IR HY B. STeelqY HSY

C. 3TsgeaTqR HST D. Fare Her
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Q9. Chief Minister of Haryana announced Tirtha Darshan Scheme for

A. Children of Haryana B. Senior Citizens of Haryana

C. Youth of Haryana D. Economically Weaker Section of Haryana
Q9. gRToT ¥ FEHE A F & fov e geier st i avom )

A. gRIoT & s B. gRI0m & aRss AnRes

C. gRamoT & gar D. R & e §7 F FFASR 97

Q10. Who amongst the following singers was born in Haryana?
A. Alka Yagnik B. Shubha Mudgal

C. Bappi Lahari D. Sonu Nigam
Q1o0. ﬁmﬁﬁamﬁ#@ﬁvmmmgﬁmﬁynm?
A. 37T ATf3eAh B. [T HGITeT

C. godY oTgdr D. #ie] folare

Q11. Who amongst the following Chief Ministers of Delhi was born in Haryana?

A. Madan Lal Khurana B. Sheila Dikshit

C. Arvind Kejriwal D. Sahib Singh Verma
Q11. Reeh & frafaf@a qeasfyal & & frw sessh &1 stwn gRamon & gam ar?
A. FET FTel G B. effer §f&a

C. 3rfdg dardiare D. aifgs &g aAT

Q12. Haryana Government has setup an online system "Sex Ratio Monitoring Dashboard" to
monitor sex ratio in district.

A. Panipat B. Hisar
C. Sonipat D. Panchkula
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Q12. R TWER F o & fofer sreqarar Y fowreht & fare " ffar IR Aforefier Sweis” e o
TS RAFeH T TATI=T A §

A. TTad B. fgax

C. dieiad D. Jagell

Q13. HAREDA stands for

A. Haryana Renewable Energy Development
Agency

C. Haryana Afforestation and Development
Agency

Q13. TE.T.HN.E.8.T FT T A 2l
A. gRmoT Reguaer TeAsll Sqegeie vardr
C. RO THRTCAA U SqcIUHE ToidT

B. Haryana Agricultural Resources Development

Association

D. Haryana River water and Ecology Development

Association

B. gRATUT wafidheaRer RERIE saegde taIfauesT
D. gRIUT RaT aTeX US Shidiiol Sacludic TAITAULRT

Q14. Which mobile application is launched by Haryana government to create awareness

among pregnant women?
A. Mamta

C. Bachpan

Q14. weiach Afyenat F dr SmerERaT da1 Fo F fAT FRAOT TFR GERT Fer AT AT veelrwereT O At

L
A. HHAAT

C. 9d9e

Q15. Pandit Laxmichand is a famous
A. Litterateur

C. Folk poet
Q15. uf3d sadag gRawn F v g

A. Oifgcae
C. ok hig

September 15, 2017

B. Kilkari
D. Bal Dhan

B. foretehil

D. dfel Yo

of Haryana.

B. Folk Artist

D. Folk Singer

gl

B. olish ShellehT

D. & MIAH
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Q16. Shri Murar Lal Sharma (Neeras) is famous for his writings for the

A. Children and young B. Travellers to the Punjab and Haryana region
C. Folk songs D. History of Haryana

Q16. it IR aier AT () ¥ AT I3 AW F AT 9Rg T

A. S 3R gar B. doire 3R gRamom &3 & 3 arer IrEr

C. o M D. gRamom & gfdera

Q17. created the novel form of Jasrangi where a male and female vocalist sings
different ragas at the same time.

A. Maharaja Jaywant Singh Waghela B. Pandit Jasraj

C. Bade Ghulam Ali Khan D. Ustad Gulam Khader Khan

Q17. A FEGN F U T FT fAATor BT et vF W AR Afen I v & wH F rewr-srerr
T I

A. HERTST siaad &g arerel B. 9f3d S&Rret

C. &3 I[el1H 37ell Wief D. 3¥dIe I[TH Hle Jied

Q18. The glory and strength of Thaneshwar of Haryana was discussed in the book written
by the Chinese traveler

A. Hiuen-Tsang B. Fahien

C. Mu-Wang D. Zhang Qian

Q18. =fi= It garT o 1§ qras A gRATOT & yraeaw A Afgar v afFd o =t Fr 1§ o
A. EdeT-cHeT B. wifgameT

C. Fg-amT D. ST feharet

Q19. Where is the biggest animal husbandry farm of Asia situated in Haryana?
A. Faridabad B. Bhiwani
C. Ambala D. Hisar
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Q19. TRIAT FT TR T37 FeITer Bt gRATOT F et R 82
A. WIgEG B. Ao

C. 37F<Tel D. fgar

Q20. Which district of Haryana has the largest forest area?
A. Panchkula B. Gurgaon
C. Ambala D. Karnal

Q20. RN F R ek & W 997 oo & §7?
A.tiagw B. a9

C. 31FdTell D. $¥dTel

Q21. Which district in Haryana receives the lowest rainfall?
A. Gurgaon B. Sirsa

C. Karnal D. Panipat
Q21. RN # fFu o & ga@ Fa aier g §2
A. T3t B. fa=ar

C. STl D. g=iad

Q22. Which National Park of Haryana is situated at the Shivalik hills?

A. Shikargah Park B. National Park of Haryana
C. Sultanpur National Park D. Kalesar National Park
Q22. gRATOM FT FieT AT AeraTer UrF, Rarforsd i ggIFal w fya &2

A. RI#RTTE TR B. siRIeTel Tk 3iTH giRamom

C. FodleyqT #ieleTel I D. HTIEN ALATel UTeh

Q23. Which of the following countries has set-up a horticulture project in Haryana?
A. Sri Lanka B. Australia

C. Israel D. Iraq
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Q23. fArafaf@d # ¥ fFw 3o & eI # IRTEE R[S F T Fr E?

A. Hrer B. 3itectorr

C. sIsd D. &

Q24. can call joint sessions of two houses of Parliament.
A. President of India B. Speaker of Lok Sabha
C. Governor D. Prime Minister

Q24. TS & &Y Weal & HIFA T HT IHTETTT T Fhel g1

A. #Rd & Tseufa B. olleh @oT 3regey

C. Tsgurel D. WETIHA

Q25. Who is the first law officer of the Government of India?
A. Attorney General B. Chief Justice of Supreme court

C. President of India D. Prime Minister of India

Q25. R TFR FT Ygall F[T A AFRT FeT 82

A. 37T STt B. A FIE & H&F wararefer
C. IR & Isgufd D. ¥R & TEAHAT

Q26. Haryana legislative Assembly has_ __ members.

A. 85 B. 92

C. 87 D. 90

Q26. RO Rt wam & weEd §

A. 85 B. 92

C. 87 D. 90

Q27. Haryana's state tree is the

(o9)

A. Banyan . Peepal

C. Mulberry . Ashoka

O

September 15, 2017

Page 7 of 28


https://haryanajobs.in

https://haryanajobs.in

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Afternoon Session

Q27. FRATO FT TTHIT F&T &
A. S3TE B. diger
C. gad D. 31l

Q28. The rating System for Green Buildings of Government of India is

A. GRIHA B. REUSE
C. GREEN D. ECDC
Q28._ Rd W&ER ¥ M RfPsT & v W Rwew §1
A.TE B. Rygsr

C. i D.$drdrar

Q29. Thread and cloth prepared in Bhiwani mill is exported to which countries?

A. Bhutan and Pakistan B. Arabic Countries

C. China and Nepal D. European Countries
Q29. ¥ &er # o fAd # IR Fr 71w amet 3tk F92 F1 AT fFAr STar 82
A. §T 3R TfehEdre B. 3ReT &

C. et 3 AAdrer D. YT &2

Q30. Pick the odd one out:

Goat, Sheep, Giraffe, Camel

A. Goat B. Sheep
C. Camel D. Giraffe
Q30. JHIA FT IIA H|

TH=, 83, O, 3T

A. SHY B. 8
C.3¢ D. foRTs
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Q31. Find the analogy.
BODQ: LYJW::CPER: ?
A. KMXZ B. KXIV
C. YwLJ D. LYW

Q31. WA gl

BODQ: LYJW::CPER: ?
A. KMXZ B. KXIV
C. YWLJ D. LYW

Q32. What should come at the place of question mark (?) in the following number series?
2, 6, 14, 30, ?, 126

A. 98 B. 76

C. 62 D. 54

Q32. FFfaf@d aear H@ar # yea Ree (?) F T 9T #7471 g1 AR T?

2,6,14,30,7?, 126
A. 98 B. 76
C. 62 D. 54

Q33. If in a coding scheme, HEAT is written as GDBU, how will BOIL be coded as?
A. STVU B. CDOP

C. ANJM D. TUMN

Q33. I TF FI3 41T &, HEAT &I GDBU @ i1ar §, Y BOIL & 41 fa@r sirwan?

A. STVU B. CDOP

C. ANJM D. TUMN

Q34. Find the value of X in the following equation:

5x10-VX =25
A. 625 B. 750
C. 825 D. 950
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Q34. Rrafaf@a gdwIor & X F71 A AFe:

5x10-VX =25
A. 625 B. 750
C. 825 D. 950

Q35. Chitra rolls a die. What is the probability that she gets a number less than 2?

A.0 B. 1/6
C.1/3 D. 1

Q35. T T T Fehelt 1 30 2 ¥ FA &I e Y fhae wsiaar 82
A. 0O B. 1/6

C.1/3 D. 1

Q36. 20% more than Rs.150 = Rs.

A. 160 B. 170
C. 180 D. 190
Q36. 150 T94 & 20% A+ = T

A. 160 B. 170
C. 180 D. 190

Q37. The loss incurred by selling a table fan is Rs.300. Find the loss percentage if the cost
of the table fan was Rs.3500.

A. 9.50% B. 8.57%
C. 7.20% D. 6.70%

Q37. U &a thet IUFT 300 ¥ HT THAI T §1 I el theT Y AT 3500 & oY Y Fctar wfevere Tware gam
2

A. 9.50% B. 8.57%

C. 7.20% D. 6.70%
Q38. is the synonym of "ordinary".

A. Uncommon B. Traditional
C. Common D. Personal
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Q39. is the antonym of "friend".
A. Pal B. Enemy
C. Helper D. Student

Q40. Identify the meaning of the idiom.

"A ray of sunshine.”
A. Something that is warm to your heart B. Someone who makes things better for you

C. Someone or something that makes you feel D. Someone who cares for you
happy or hopeful

Q41. Sentence given below may contain one or more mistakes. Identify the correct
sentence.

"I having tea and sandwiches to breakfast before going to school.”

A. | had tea and sandwiches to breakfast before B. I having tea and sandwiches as breakfast
going to school. before going to school.

C. | had tea and sandwiches for breakfast before D. | had tea and sandwiches as breakfast before
going to school. going to school.
Q42. Complete the sentence by choosing the correct word.

Heavy rains (spoil) our plans to hold the meeting in an open ground.

A. Was spoiling B. spoilt

C. spoil D. were spoiled

Q43. The rays of light always travel in

A. Straight lines B. Curved lines
C. Zigzag lines D. Distorted lines
Q43. YFTer Y fFor gaem H gram A §

A. €l Tan B. gATIER 3@

C. Taerater Y@r D. s @r

[
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Q44. The only non-metal that is liquid at room temperature is
A. Mercury B. Bromine

C. Phosphorus D. Potassium

Q44. THATT THT -4 & S FAT ATTATT T e 3aeT # @ ¥
A. 9T B. ifA=T
C. BRBRY D. i

Q45. Plants absorb nutrients mainly from

A. Sunlight B. Air

C. Soil D. Rain drops
Q45. T 7ET ¥ @ ¥ A Feal F sraafa Fa

A. FF &I G B. gar

c. fag D. aTier T &g

Q46. % Uec FT TATIATH 2reg Tdq=SY |

Crc)
A. Ifadear B. fear
C. §s1 D. ST

Q47. faw= arsg &1 Rl (Rehe) aref sarsy |

IRFH
A. &I B. Ugdl
C. 3 g D. @y
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Q48. ) ford FygraY #1 37w e gAY |

e i avg W aga=n

A. T a8 ¥ 1 fears B. e TSt grer
C. REegeagie gler D. §HACIS T el
Q49. AR for g reg FT Thaud TAR |

T

A. ITEAT B. r&dr

C. {dr D. T&T

Q50. Y fad eree 7 agaas sard|

s

A. ®igTe B. ©I3TC

C.dI3 D. &3r

Q51. Accounting of inventory is done as per

A. AS 3 B. AS 5

C. AS 2 D. AS 6

Q51l. TFquA M AWHA & IHeJAR frar I ¢ |

A.TTH3 B.Ttuwg 5
c.tug2 D.TTHG6

Q52. Intangible asset is:

A. Vehicle B. Plant and machinery
C. Goodwill D. Furniture
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Q52. 3t uRwfed &t
A. dTgaT B. 37 tg #i=lr

C. arg D. AT

Q53. Pooling of interest method is followed in which type of amalgamation?

A. Nature of purchase B. Nature of demerger
C. Nature of merger D. Nature of seller
Q53. FH YR F AR # Ra vaareor At 1 sreqavor frar smar 82

A. ST & IHfd B. et & %l 1 Uepfd
C. faergeT &1 yepfd D. fashar &I Tasid

Q54. If purchase of Office Furniture is debited to the Merchandise Stock Account

instead of

Property Account, such an error cannot be disclosed by Trial Balance as the amount is

posted to the correct side but in wrong account. Such an error is known as -
A. Error of Commission B. Errors of Omission

C. Errors of Principle D. Compensating errors

Q54. IR} FRTET F FeAl=R A1 FlE F) Fufed A F TIT W AOoTF i T & a3 T AT Jar ¢ v s
YHR Y Terclt AT THTOT ZGRT Yahe A1 g1 9Tt & Fifr TRy i 3 var & Afeet arera @ F sremoram & 1 ¥ A

FFEAE -
A. SR T I B. 8{el-Tel
C. fgid r et D. gfaqe Jfear

Q55. SLR stands for:

(o9)

A. Standard Liquidity Ratio . Statutory Liquidity Ratio

O

C. Statutory Liquidity Reserve . Statutory Limited Ratio
Q55. TH.UA.IR. HT RATAR &:
A. Téz3 afFafzdr WRar B. gl forferafsér IR

C. Teged fafFafsd Rea D. Feeged faffes W=

R
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Q56. Profit prior to incorporation is transferred to

A. General reserve B. Profit and loss account
C. Capital profit D. Pre incorporation reserve
Q56. [ATHAT @ qgar & AT FY # siafia FFarsmar ¢ |

A. HTHTS JIRETOT B. oH g gifey @rar

C. Gofare st D. qd-faarseT grer

Q57. Cash and cash equivalent include:

A. Long term investment B. Over draft

C. Debentures account D. Short term investments
Q57. 7% 3R 7+ FAIeT # WA §:

A. SrdepTels fAaer B. 3fatgive

C. fe= @rer D. 3eUaeilel felder

Q58. The purpose of cost accounting is to provide information for -
A. Preparing costing Profit & Loss A/c B. Cost control

C. Locating factors leading to wastages and losses D. Assessing the profitability and financial position
of the firm

Q58. FFTA AW FT 39T FHS AT FIAT Y&TT FIAT § -
A. JTETd T g T TTaT a1 T B. orrd =0T

C. 3rqfrse wa I’ # aRonfAT glet arel &Rl &1 aar D, B T ameriear 3R facchr Feufar &1 Heaishet e
CCic

Q59. In marine hull % of premium income is carried forward as provision for and
the balance is transferred to profit and loss account.

A. 100 B. 50

C. 25 D. O
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Q59. T oraT # % NIATH 3T FT I F T F 3 F 7 AT & 3T AT F A7 T e @ FH
srafa T smar ¥

A. 100 B. 50

C.25 D. 0

Q60. A change in the estimated life of asset which necessitates adjustment in the
depreciation is an example of

A. Prior period item B. Ordinary item

C. Extra ordinary item D. Change in accounting estimate

Q60. TREufeT F waFfaa Shaaare # aRada, fSrad FRT Aeaga # FATAIST TS & AT &, T
3T |

A. qarafar 7 B. WTEROT Ae,

C. 3 ETYRTT 7g D. S@ieheT JTeRhelel H IRAd

Q61. Among the following who is not eligible to appoint a CA of a Company?

A. Proprietary firm B. Partnership firm
C. Body corporate D. LLP

Q61. 37 ¥ FeT vF Fuelt # WU, FAgFa w1 F v o 7t 82

A. TarfAca wa B. AT B

C. @Re e D. Ud. Tl b,

Q62. Tenure of an auditor in a Company, if the Annual General Meeting (AGM) is adjourned,
will be over

A. Only up to next AGM B. Appointed for the life of company

C. Three years D. Only after completing the adjourned AGM
Q62. 3k aiffs wwea dox (v.i.ua.) Tufda i J1et §, o Fuel 7§ @1 TeTw F1 FREE AT
g |

A. &dd 3Tl U.SN.UH. T B. el & Sfiaetehrel & T fagerd

C. et a¥ D. &dd TIRIT T.5N.TH. AT g & d1g
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Q63. Error of commission means:
A. Wrong totaling and wrong posting B. Capital item treated as revenue

C. Not recording a transaction D. One set of error nullify the other set of error

Q63. FHtereT i qfR F e &

A. SIS ST & FTeTell T ITefdl Fidfse B. GofeTel Hal &l ITed He HIeT =il

C. Tordl AeT-Cf T Eot o el D. Teh GehR T Telcl GaRT GAY FehY T Telcll T AT
AT

Q64. is an activity carried out by the staff of the organization to meet the

management's requirement of information.

A. Statutory audit B. Internal audit

C. Cost audit D. External audit

Q64. qE FIAFATT ¢ FOF WIS F TG GART TG HY FAAT Y HTARIAFAT FT T FA & forw fBxam swar

gl

A. Tifafe or@r ader B. 37aReh or@r adram

C. TR oI@T Trer D. ST o Er gdieT

Q65. Auditor is not responsible for
A. Safeguard of asset B. Expressing opinion

C. True and fair view D. Reasonable assurance of free from
misstatement

Q65. 3@ TaTs & fore Scavgrt g g |

A. aREufcaat S et B. faR sgard &t

C. g=dr 3k 3R e D. fAgrehysT @ FHerd W= 1 3T ITearde

Q66. In auditing most of the time, the auditor deals with type of audit evidence.
A. Conclusive B. External

C. Persuasive D. Internal
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Q66. or@r qdiat A, A AT orEr TaTw YR FT A@T 98T T8 & 1Y SqagR FIaT ¢ |

A. fegaraAs B. ST&dr

C. YA+ D. 37dRe

Q67. deals with evaluation of transactions by test of details of transactions and
analytical procedures.

A. Compliance method B. Substantive procedures

C. Test of control D. Comparative method

Q67. AT-3T Ta ReavoreAs ufkanat & saR i e @Rt Aq-ae F Hediwa @ gafa g |

A. 37eTaTelet fafer B. #Hifers ufsrame

C. faz=or & gdiator D. qeieicae fafer

Q68. Type I audit reports are issued by service provider auditor if the

A. Internal controls are designed efficiently and B. Internal controls are designed effectively.
operating effectively.

C. Internal controls are operating effectively. D. Internal controls are designed efficiently.
Q68. a1 YETaT el WiHvs aNT YHR-1 At A@r giem R s i Jreh &, I

A. ITdRe AIF0T &1 AfPFeq gardT Eo1 A IR Far B. 3ndRe fAI=0T &r 31ffehed gHTEY 391 ¥ IR frar
I § 3R 3 wardY &er @ vt g I g

C. 31aRer =TT GHTET o1 ¥ w=fold gl D. 3idRes AIF0T SRIeTH &9 ¥ 3rfAdiead gl

Q69. Material, labour and expenses are classification of cost as per

A. Behavior B. Nature

C. Variability D. Basis of element
Q69. I, 4H vd =y & HTAR AT & Fafteyor § |

A. SIdg¥ B. TaATT

C. gRadsgar D. R & IR
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Q70. Value of sacrifice made in accepting an alternative course is called

A. Opportunity cost B. Replacement cost
C. Imputed cost D. Discretionary cost
Q70. dwfous ATt FFR F A T 7T =TT F Ao AN Fead |
A. 3EE SR B. gfaeardst arerd
C. @fvsd drrd D. fagerefisr amera

Q71. A location, a person, an item of equipment or a group of these for which cost may be

ascertained and used for the purpose of cost control is known as
A. Profit centre B. Responsibility centre

C. Cost unit D. Cost centre

Q71. ¥ud, SAFd, ITFF HY AG AT ST WAF o v anrd sffaRae 6 o1 awdt § i S seaa

AN T & wAsreTe fRar S ¥, 39 FEaE |
A. T Feg B. 3cRelAcd dhog
C. N1 518 D. dRTd dheg

Q72. Fixed cost per unit is:

A. Fixed in nature B. Variable in nature

C. Semi variable in nature D. Non variable and non fixed
Q72. vfa s&ré PuR et g &:

A. Ta9T ¥ 8RR B. TTT & g

C. ¥ § HY-gRadt D. 3qRadl ud 3fFaT

Q73. Automobile workshops, interior decoration, etc usually follows

A. Job costing B. Batch costing

C. Contract costing D. Operating costing

Q73. AT aHeTT Y HidaRks Forae nfe F qrAeaa: FT HTEIOT BT AT |
A. ST rerd fereiRor B. o7 @nTa foreRor

C. & amerd farefRor D. JaTe drerd ferefRor
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Q74. JIT purchase stands for:
A. Just in to B. Just in time

C. Job in time D. Out time

Q74. 3.315.8. F7 # 3.3E.&. T OOF 79 &

A. S FAC B. SI¥C 31 CI3H

C. Siid 3T eI8H D. 33c <I8A

Q7_5. In , each consignment of material purchased is identified separately as to its
price.

A. Specific identification price method B. Base stock method

C. Simple average method D. Realizable price

Q75. #, @i 71§ el & g AR AVOT FY IFH AAT F T H AT  IgIAT AT |

A. RIfrse AfEREAT g [y B. YR ¥l A

C. e 3aa fafer D. a¥el-AY HIAT

Q76. Two approaches of material handling cost are:
A. Opportunity cost and labour B. Landed cost and overheads

C. Machinery handling D. Transition overhead
Q76. T3t ESfAer dArra & & efSewior §:
A. 3T AT Td XA B. ${f# &I #IeTd Ud IWIedd

C. A i gsfoler D. ThHUTRINT FUTT

Q77. Time which is inherent, unavoidable and uneliminated is called

A. Abnormal idle time B. Idle time
C. Normal idle time D. Overtime
Q77. THY I afdfed, e sk safaaaair &, FgAATE |
A. 3 8TAT [ATSHT &rer B. [AfSwT wrer
C. =g AHT Frer D. gFAIOR
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Q78. Formula for calculating labour turnover as per separation method is:
A. Number of replacement / average labour force  B. Number of separation / average labour force

C. Number of separation + number of D. Labour force / Number of Replacement
replacement / average labour force

Q78. guFIor RAf & 3egar 497 fsarad wRefoaa w3 #1 oeier e
A. JTREATYT T HEar / Had S8 o B. GUFhOT T HEAT / I 4 o

C. GUFHIUT T TEIT + YT T F&AT / AT A7 D. 4 Fof / Fiaedmae i qear
EC]

Q79. is systematic evaluation of the performance of employees.
A. Job evaluation B. Labour productivity

C. Merit rating D. Attitude assessment

Q79. FHANAT F Fri-favares F1 sqafeyd qeaiwa § |

A. FE Hediee B. A 3cdTeehdT

C. 0T Hofiref D. 3iffigfcd Hearehat

Q80. Total of all indirect cost are called as:
A. Overheads B. Prime cost

C. Variable cost D. Semi variable cost
Q80. H3fY WaT AN & FI F Fed &
A. 3Heag B. #el #aTed

C. 9Radr omera D. 3r-gRadf amra

Q81. Capacity of plant which is expected to be utilized over a long period based on sales
expectation is called

A. Actual capacity B. Idle capacity

C. Practical capacity D. Normal capacity
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Q81. R A Y F YR W, ot aftr & e v e e 3 3rfda @4 Ay arHar F FEA D
|

A. arEdTa &THAT B. AT atdar

C. SUTagTReh &THAdT D. HHAT &TAdT

Q82. seeks to recognize the movements and flows of cost within the firm.

A. Non integrated accounting system B. Control system

C. Integral accounting system D. Efficiency system

Q82. B # dera & Wad«l AR vaml # FAARATTT w3t F faw HIATE ST 7 |

A. 3R ThIehd ergiehe JoTTell B. fg=oT yomrelr

C. AN S@ieheT JOTTEIT D. G&TdT YoTTelr

Q83. The condition of increasing the contract price due to the unexpected loss caused to
contractor by increase in price of materials wages are

A. Escalation clause B. Surplus clause

C. Margin clause D. Cost plus clause

Q83. TR AR FGY Hr FAc # TN ZIRT SHaR H g8 HTAH I F FROT 3F $ FrArd F FQheadt H
e (A

A. SolcdiY TUS B. 31fy @ug

C. AfSeT @us D. dRTd Told ®@Us

Q84. Income tax act came into force in

A. 1962 B. 1961
C. 1956 D. 1971
Q84. 3T X fafags af ¥ ey R ara |

A. 1962 B. 1961
C. 1956 D. 1971
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Q85. Speculation loss can be carried forward up to

A. 4 years B. 8 years

C. 5 years D. Cannot be carried forward
Q85. ITATT F FROT g5 Ffar H T 3T o ST AT FFaAT S |

A. 4a9Y B. 8 a¥

C.5a¥ D. 3 &g of ST ST Gl

Q86. Ms. Aishwarya sold a BMW car for Rs. 80 lakhs, which was used exclusively for
personal purpose. The car was acquired for Rs. 50 lakhs. What is the capital gain to be
taxed?

A. Rs. 30 lakhs B. Rs. 20 lakhs

C.Rs.0 D. Rs. 10 lakhs

Q86. Tt WeaAT & T. 80 T H YA A.UA.3qeY, FR A7 & FwFT FEAATT Faer sl wAvorer & forw fram Srar
aT| $6 FR 1 . 50 ar@ F ot B arm o) #3127 Jeftera afewr fraeht & 2

A. 3. 30 o1 B. ®. 20 oT@&

C.% 0 D. %. 10 1"

Q87. Penalty for failure to keep, maintain or retain books of accounts u/s 44A of income tax
actis .

A. Rs 25000 B. Rs 50000

C. Rs 2500 D. RS 5000

Q87. Imaa HAFAIH A URT 44T F g AWT IRAT FI T, HATETOT FA AT 4R FA F fawer §ia «
T SATAT AT ST § |

A. $. 25000 B. ¥. 50000

C. %. 2500 D. . 5000

Q88. TDS as per income tax act implies:
A. Tax collected at supplier B. Tax contributed at source

C. Tax deducted at source D. Tax computation at source
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Q88. I F & IJUR A.9).0w. g
A. qfclehd ZaRT THfAd T B. FId W f&am ram &Y
C. IId W el I-™T HT D. 9d 9 gRepfold

Q89. Which one of the following is the correct statement?
Service tax is/an-

A. Direct tax levied by the Central Government B. Indirect tax levied by the Central Government

C. Direct tax levied by the State Government D. Indirect tax levied by the State Government

Q89. 5 ¥ Fi T FUT T 8?

JarF T -
A. FEIT IR GART ST STTel aTell FedaT il B. Sheald TR GART S3MAT SfTel dTell URI&T T
C. T G GaRT oETT SfTel aTell FegaT &l D. T §IhR GaRT W97 STl aTell TR1eT &

Q90. In India the tax proceeds of which one of the following as a percentage of gross tax
revenue has significantly declined in the last five years?

A. Service tax B. Personal income tax

C. Excise duty D. Corporation tax

Q90. ¥R # X & wItT, wH & v, Fohel FT ToFT F Ifawd F ¥ & ¢, Ao oiw auf & sed@dg w0 I
firrae an$ &, as FAT 82

A. FaT B. @< 3ma X

C. 3cUTe Yo D. faere #x

Q91. Indirect material cost is a part of which of the following?
A. Prime cost B. Factory overhead cost

C. Chargeable expenses D. Written off expenses
Q91. TRiaT WA AN SR ¥ FFwwenr s1or § ?
A. Hel dTeTd B. HREIEAT 3WIeTY AT

C. YHR-I9Y =TT D. §2 @Td H 3T 90 I

September 15, 2017 Page 24 of 28


https://haryanajobs.in

https://haryanajobs.in

Adv. No. 6/2016 Cat No. 10, Accountant (Urban Local Bodies
Department, Haryana)
Afternoon Session

Q92. Which among the following have not contributed to promotion of FDI in India?

A. Setting up of Foreign Investment Promotion B. Setting of sectored caps for investment.
Board (FIPB) for prior approval of FDI which
cannot be routed through automatic route.

C. Allowing FDI from Pakistan to enter the D. Enactment of Foreign Exchange Management
country. Act (FEMA).

Q92. sRd & Th.AN.ME. F Tada F iy g4 ¥ fFaer Ao w1¢ W@r ?

A. T3S, & 9d 3rfAlee & fow fagel fader gadsr  B. fader & faw feres S & w19 |
S (.35, 9r.&Y.) i TUrger, 9 Taafod AT &

SIRT A& R ST FehaT AT |
C. UIfhEareT ¥ TH.I.3MS. FT U H YT A & foITw D. faeeh fafAew gavs sfRfags (tw.d.wa.v) &
AT | AT A |

Q93. Self Reliance in the economic context implies that a country:

A. Meets its demand for all goods and services B. Exports some of its goods but does not need to
from its domestic production. import anything.

C. Has sufficient foreign exchange reserves to buy D. Meets its demand for all vital goods and
all its needs. services from its domestic production.

Q93. anfdwF aidew # rew-feRar 59 ara W A & @ for der :
A. T8t ATel 3R A3t T AT AT 39T TRl SculeeT B, 39w $© Aol HT AT T § olfchel 30 Fo o

QAT S | AT Ft T T AT I8l
C. 319 T 3TIISFAT3T T Wl & fow gAied Aol D. @3l 3rcaraeTs ATer JAT31t T 31961 AT 39 Tach
fafasra greror Aise ¢ | Sculee 8 QU AT E |

Q94. India dominates the world exports market because of:
A. Currency manipulation B. High labour costs

C. Low inflation and cost of inputs D. Administered pricing of products

Q94. T F AYTd IR # 37 FRUT ¥ HRA T =T § -
A. HaT aRErerst B. 33 51 oI
C. T Thfa qur [ar i aera D. 3curel Fr FERT FrAd
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Q95. The world bank's environmentally sustainable Development Division has developed
Green Index. Which one of the following is not a constituent of this index?

A. Produced assets B. Natural assets

C. Social assets D. Human resources

Q95. T dF F gaTaRvr Adew e wsmer & N S3F7 AT FAT & | 377 T FAT 57 ST FT U 61 82
A. faffa aReafeaat B. WTshfcieh TRETTcaar

C. FrAS® gREdfcaar D. AT aREgfeTat

Q96. Which one of the following statements is not correct?

A. A situation of twin deficit may or may not have B. Maintaining a competitive exchange rate is one

an adverse impact on exchange rate. of the requisites for tackling a condition of twin
deficit.
C. Reduction in the spending on subsidies and D. Current Account Deficit can be overcome only

enactment of measures to curb inflation are also through borrowing.
essential for bringing the two deficits under
control.

Q96. AR T FIeT AT FUT T IET &7

A. @ Bret 1 Feufd 1 faf@ e &3 o dideher w811a Us 8t B. Seerdl, af arel 1 Feufd st Ferel & forw gfcreatdf
HFaT§ AT AT o IS FFaAT ¥ | R_fAHT 2T 910 @1 U 3ETHhaT ¢ |

C. Qe =ret & AT 7 Wl & AT, 3Eeel W@ A D. Sad 3UR AT &1 lel olEl °1e 8 3 ST Hhll § |
ety quT AErERfd o 0T W@ & 3Urt @l AT
YT oY 3T ¢ |

Q97. The period of first previous year for a new source of income which commenced in the
mid of a calendar year will be

A. the balance months of the calendar year B. 12 months from the date of commencement of
such new source of income

C. More than 12 months of its assessment year D. The exact period of such income preceding to
its assessment year
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Q97. 3 ¥ T i & fAT ygel Roar af #ir rafdy, I Fdst a¥ & #yx & 43 AN ¢, awh [

A. FizX ¥ & AY AE B. 37T & U AU HId & YR gl T dii@ & 12 AE
C. 30 [AuRoT a¥ & 12 AT ¥ 31 D. 3Ha faefRor a¥ & qdadf a¥ # &l 37 fr 78
3rafar

Q98. How does the management ensures that the management decisions, policies and the
procedures are followed in letter and spirit by all concerned?

A. By arranging internal audit B. By arranging systems audit
C. By organizing internal check D. By conducting surprise check

Q98. yate 77 ¥ gaRaa F¥ar § B yauar & fofa, Aifa=t si aftansit &1 w3 safdat ganr s sk o
qrereT 4T ST 82

A. AR oIET G0eTT &7 cgaedT T B. ATcH or@r GveTr T cgaFAT
C. HaRe Jra 3RS T D. ThieA® AT darfald &

Q99. Continuous audit is useful because-

1. more detailed checking is possible

2. audit can be completed quite quickly

3. figures in the accounts cannot be altered as the auditor visits several times during the
year

4. internal check can be done away with

A. 1 and 2 are correct B. 2 and 4 are correct

C. 2, 3 and 4 are correct D. 1, 3 and 4 are correct

Q99. Taa @ ThaT YA § i -

1. s REqa dtg a9a ¥

2. o o ad Aot & i i o weh ¥

3. a@l & NFET FT 9GAT AT T FHAT FAF @1 TNETF I§ F SN 3T IR ST FA
4. 3R AT HY ST TFA

J13dR2aEr g€ B.23R 4T &
C.2, 334w D.1,33R4ud g

>
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Q100. Which of the following is the Engel's law?

A. As the income of a consumer increases,
expenditure on food decreases.

C. When the income of a consumer remains
constant the expenditure on food remains
constant.

Q100. o FT AT SAA A FlT AT E ?

B. As the income of a consumer increases the
expenditure on food increases.

D. The expenditure on food remains constant
irrespective of increase or decrease in consumer's
income.

A. 3T T AT d6ct ¢ dl Wied gerdf N 37 ged
gl

C. 3UHIEFAT &I 31T FEUR Tl & off WieF verdf ) =ag
ofr ReuX T8 B

September 15, 2017

B. 3UHIFAT & 31T Fed & ar @y geradf W <o agdr
gl

D.Wﬁmmmmﬁmawﬁy,
@rey geredt i e fEeR g &l
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